N/W Structure A matrix (Given N node n/w B = [3’ ON,lxl]T) Condition I Condition IT Conclusion
Disturbance
ayi(-1) 0 0
Output an(+1) am(-1) 0 (IISllo : S := {az1, az1a2}) > 1 ag1az; — agag; =0 4
az(+1) as2(=1) ass(-1)
Disturbance
ay(-1) 0 0
Output |:"21(*1) az(—1) 0 (ISllo := {as1, az1az2}) > 1 agiazz — aziaz2 =0 X
azi(+1) as2(—1) ass(-1)
Disturbance
° Output
e }b a1 (=1) an(+1) 0 0 0
az(+1) ax(-1) 0 0 0
0 0 agz(—1) 0 azs(—1) (ISllo == {as1}) #0 az =0, Re(spec(A)) <0 || X(Unstable)
0 0 ag3(+1)  asa(—1) 0
as1 0 0 asa(—1) as5(—1)
Disturbance
% Output
é}b an(—1) a(-1) 0 0 0
Q a(+1) azn(-1) 0 0 0
0 0 azz(—1) 0 azs(+1) (IISllo :={as1}) #0 az = 0, Re(spec(A)) <0 v
0 0 ag3(+1)  az(-1) 0
az(+1) 0 0 aza(=1) as5(—1)
Disturbance
a1 (—1) aw(+1) 0
Output an(—1) axn(-1) 0 (IISllo : S={asm}) =1 as = 0,Re(spec(A)) <0 v
az (+1) 0 azz(—1)

Table 1: Demonstration of the algorithm. ||.||o : S — R refers to the number of non-zero elements
in the set S.



